Kolay Sudoku {ZZ}
Seviye 1 o
0%

Ad Soyad :

. Soldan sa@a, yukaridan asagiya

her satir ve her kare 9 farkli rakam

icermelidir.
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Kolay Sudoku
Seviye 1
Ad Soyad :

glya

her satir ve her kare 9 farkli rakam

icermelidir.

-

9(4(3|6(8|7]|2|5]|1
1(6(5]19|12|4|3(8]|7
812|7|1[|3|5]4|9(6
513(4]7|19(8|1(6]2
2/8(6|3(5|1]|7(4]|9
711(912(4|6|8(3|5
4(9|8|5(7|12|6|1|3
615(2|4(1|3]|9|7(8
3|7|11|8(6[9]|5|2)|4
912(1|8|3|7]|6|5(4
416(8|5(1|2]|7|3(9
3|15|7|9(6[4]1|8]|2
6(4(3|7(8|9]|2[1]|5
119|5|4(2|6|3|7|8
718(2]1|15|3|9(4)|6
81119]|6(7|5]14|2(3
5|3|6|2(4(1]|8|9]|7
2|17|14|13(9|8]5|6|1
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5(1(/8[2|9(3]|6 4] 7

6/7/9]|8 /4152

7/6/5|4/8/2|31119
2/4(3[1|7/9]|8 |5

4[3|7|8)2]8] 0 6]

3/2|4]7]/5|6]1]

5/6(913(8|2|4(1]|7
2|14(8|5|7|1]19(|3(6
3|11|17]14(9|6]5|2)|8
712|16|1(5(413|8]|9
918(1]12(3|7]|6(|5|4
4(3|5]9(6|8|2]|7|1
6(7(4|8(2|3|1[9]|5
8(5(2|6(1]|9|7(4]|3
1(9(3|7|4|5]|8(|6(2
2|16(4|9|7|8|3(1(5
913|7]1(2|5]|8|4|6
5|8|1|6(3[|4]9|2]|7
711(5]13(6|2|4(9)|8
6(4(9|5(8|1|2|7]|3
312(8|4(9|7|5(6]|1
819(2|7|5|6|1(3(4
4(7(3|8|1|9]|6(5(2
1(5(6|2|4|3]|7(8(9

www-mebders-com




	kolay-sudoku11
	kolay-sudoku11-cozum

